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Section Id : 686340867
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Section type : Online
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Question Id : 68634044049 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Before the 1920s. film used to be silent with just the action on the scene along with subtitles. Come the decade
of 1920 and the advent of new technology. the filmmakers had the possibility to synchronise a soundtrack with
the action on the screen. This included dialogues. musical score and special effects. After this development.
the movies were called talkies since the audience was able to hear the actors talk with each other. There was no
stopping from then on and the next significant development was the introduction of colour. However. colour
movies were somewhat slow to catch on. especially when compared to the addition of sound to the movie.
Another reason for this slow acceptance of colour was the considerable developing and processing cost it
entailed. With passing of time. and improving technology. the colour processing became as affordable as
black-and-white films. More and more movies were filmed in colour to a point when the film makers did away
with black-and-white films.

Sub questions

Question Number : 1 Question Id : 68634044050 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Movies that had no sound were called movies

1. dumb
2. mute
3. muffled
4, silent

Options :

686340174001. 1

686340174002. 2

686340174003. 3
686340174004. 4

Question Number : 2 Question Id : 68634044051 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The acceptance of colour movies was a little slow compared to the

1. simileys

| B

. selfies
3. besties
4, talkies

Options :

686340174005. 1
686340174006. 2
686340174007. 3
686340174008. 4



Question Number : 3 Question Id : 68634044052 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Colour movies were little slow on the uptake owing to their high and costs.

1. processing/ developing
2. reviewing/developing
3. filming / processing
4. filming/developing
Options :
6863401740009. 1
686340174010. 2

686340174011. 3
686340174012. 4

Question Number : 4 Question Id : 68634044053 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The of the soundtrack to the action m the film revolutionized the process of film making.
1. stitching
2. synchronization
3. adhermng
4. business
Options :
686340174013. 1
686340174014. 2

686340174015. 3
686340174016. 4

Question Number : 5 Question Id : 68634044054 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
What 1s the main idea of the passage?
1. Film making is an easy job.
2. Advancement in technology has had a tremandous impact on film making
3. Silent movies and talkies were destined to become obsolete

4. Colour movies with a soundtrack are better than black-and-white movies with a soundtracl.

Options :



686340174017. 1
686340174018. 2
686340174019. 3
686340174020. 4

Question Id : 68634044049 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Before the 1920s. film used to be silent with just the action on the scene along with subtitles. Come the decade
of 1920 and the advent of new technology, the filmmakers had the possibility to synchronise a soundtrack with
the action on the screen. This included dialogues. musical score and special effects. After this development.
the movies were called talkies since the audience was able to hear the actors talk with each other. There was no
stopping from then on and the next significant development was the introduction of colour. However. colour
movies were somewhat slow to catch on. especially when compared to the addition of sound to the movie.
Another reason for this slow acceptance of colour was the considerable developing and processing cost it
entailed. With passing of time, and improving technology, the colour processing became as affordable as
black-and-white films. More and more movies were filmed in colour to a point when the film makers did away
with black-and-white films.

Sub questions

Question Number : 1 Question Id : 68634044050 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Movies that had no sound were called movies
1. dumb
2. mute
3. mufiled
4, silent

Options :

686340174001. 1
686340174002. 2
686340174003. 3
686340174004. 4

Question Number : 2 Question Id : 68634044051 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The acceptance of colour movies was a little slow compared to the

1. simileys

| B

. selfies
3. besties
4, talkies

Options :

686340174005. 1
686340174006. 2
686340174007. 3
686340174008. 4

Question Number : 3 Question Id : 68634044052 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Colour movies were little slow on the uptake owing to their high and costs.

1. processing/ developing

| B

. reviewing/developing

Lad

. filming / processing
4. filming/developing

Options :

686340174009. 1
686340174010. 2
686340174011. 3
686340174012. 4

Question Number : 4 Question Id : 68634044053 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The of the soundtrack to the action in the film revolutionized the process of film making.

1. stitching

| B

. synchronization
3. adhering
4. business

Options :

686340174013. 1
686340174014. 2
686340174015. 3



686340174016. 4

Question Number : 5 Question Id : 68634044054 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What 1s the main idea of the passage?

1. Film making is an easy job.

| B

. Advancement in technology has had a tremandous impact on film making
3. Silent movies and talkies were destined to become obsolete

4. Colour movies with a soundtrack are better than black-and-white movies with a soundtrack.

Options :

686340174017. 1
686340174018. 2
686340174019. 3
686340174020. 4

Question Id : 68634044049 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Before the 1920s. film used to be silent with just the action on the scene along with subtitles. Come the decade
of 1920 and the advent of new technology. the filmmakers had the possibility to synchronise a soundtrack with
the action on the screen. This included dialogues. musical score and special effects. After this development.
the movies were called talkies since the audience was able to hear the actors talk with each other. There was no
stopping from then on and the next significant development was the introduction of colour. However. colour
movies were somewhat slow to catch on. especially when compared to the addition of sound to the movie.
Another reason for this slow acceptance of colour was the considerable developing and processing cost it
entailed. With passing of time, and improving technology, the colour processing became as affordable as
black-and-white films. More and more movies were filmed in colour to a point when the film makers did away
with black-and-white films.

Sub questions

Question Number : 1 Question Id : 68634044050 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Movies that had no sound were called movies

1. dumb

2

. mute

3. muffled

4, silent



Options :

686340174001. 1
686340174002. 2
686340174003. 3
686340174004. 4

Question Number : 2 Question Id : 68634044051 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The acceptance of colour movies was a little slow compared to the

1. simileys
2. selfies
3. besties
4. talkies

Options :

686340174005. 1

686340174006. 2

686340174007. 3
686340174008. 4

Question Number : 3 Question Id : 68634044052 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Colour movies were little slow on the uptake owing to their high and costs.

1. processing/ developing
2. reviewing/developing
3. filming / processing

4. filming/developing

Options :

686340174009. 1
686340174010. 2
686340174011. 3
686340174012. 4

Question Number : 4 Question Id : 68634044053 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The of the soundtrack to the action in the film revolutionized the process of film making.

1. stitching

| B

. synchronization
3. adhering
4. business

Options :

686340174013. 1
686340174014. 2
686340174015. 3
686340174016. 4

Question Number : 5 Question Id : 68634044054 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What 1s the main idea of the passage?

1. Film making is an easy job.

| B

. Advancement in technology has had a tremandous impact on film making
3. Silent movies and talkies were destined to become obsolete

4. Colour movies with a soundtrack are better than black-and-white movies with a soundtrack.

Options :

686340174017. 1
686340174018. 2
686340174019. 3
686340174020. 4

Sub-Section Number : 2
Sub-Section Id : 6863401440
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634044055 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct sequence of the four phrases given below to make a meaningful sentence.

A. the tangled oak treetops that you can barely see the sky
B. moss and lichen drip so thickly from

C. i the southwest of England

D. in Wistman's Wood i Dartmoor National Park

1LA.B.C.D

| )

.D.C,B.A
3.B.D.A.C
4.C.A.D.B

Options :

686340174021. 1
686340174022 2
686340174023. 3
686340174024. 4

Question Number : 6 Question Id : 68634044055 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sequence of the four phrases given below to make a meaningtul sentence.

A. the tangled oak treetops that you can barely see the sky
B. moss and lichen drip so thickly from

C. in the southwest of England

D. in Wistman's Wood i Dartmoor National Park

1.A.B.C.D
2D B A
3.B.D.A.C
4.C.A.D.B

Options :

686340174021. 1
686340174022. 2
686340174023. 3
686340174024. 4

Question Number : 6 Question Id : 68634044055 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct sequence of the four phrases given below to make a meaningful sentence.

A. the tangled oak treetops that you can barely see the sky
B. moss and lichen drip so thickly from

C. i the southwest of England

D. in Wistman's Wood i Dartmoor National Park

1LA.B.C.D

| )

.D.C,B.A
3.B.D.A.C
4.C.A.D.B

Options :

686340174021. 1
686340174022 2
686340174023. 3
686340174024. 4

Question Number : 7 Question Id : 68634044056 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a one-word substitute for "the art of beautiful handwriting"?

—

. Epigraphy

2. Calligraphy

L]

. Cartography
4. Topography

Options :

686340174025. 1
686340174026. 2
686340174027. 3
686340174028. 4

Question Number : 7 Question Id : 68634044056 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is a one-word substitute for "the art of beautiful handwriting"?

1. Epigraphy

| B

. Calligraphy

LIPS ]

. Cartography

=

. Topography

Options :

686340174025. 1
686340174026. 2
686340174027. 3
686340174028. 4

Question Number : 7 Question Id : 68634044056 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is a one-word substitute for "the art of beautiful handwriting"?

1. Epigraphy

2. Calligraphy

LIPS ]

. Cartography

e

. Topography

Options :

686340174025. 1
686340174026. 2
686340174027. 3
686340174028. 4

Question Number : 8 Question Id : 68634044057 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following can be taken to be synonym for 'obstreperous'?

1. objectionable

[ ]

. sycophantic

L]

. disruptive
4. obsequious
Options :

686340174029. 1
686340174030. 2



686340174031. 3
686340174032. 4

Question Number : 8 Question Id : 68634044057 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following can be taken to be synonym for 'obstreperous'?

1. objectionable

[ ]

. sycophantic

LIPS ]

. disruptive
4. obsequious

Options :

686340174029. 1
686340174030. 2
686340174031. 3
686340174032. 4

Question Number : 8 Question Id : 68634044057 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following can be taken to be synonym for 'obstreperous'?

1. objectionable

[ ]

. sycophantic

L]

. disruptive
4. obsequious

Options :

686340174029. 1
686340174030. 2
686340174031. 3
686340174032. 4

Question Number : 9 Question Id : 68634044058 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct pair of prepositions to fill in the blanks of the following sentence:
She walked her friend the rally to support the workers.

1. beside. during

| )

. besides. beside
3. during, beside
4. with. on

Options :

686340174033. 1

686340174034. 2

686340174035. 3
686340174036. 4

Question Number : 9 Question Id : 68634044058 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Choose the correct pair of prepositions to fill in the blanks of the following sentence:
She walked her friend the rally to support the workers.
1. beside. during
2. besides. beside
3. during. beside

4. with. on

Options :

686340174033. 1
686340174034. 2
686340174035. 3
686340174036. 4

Question Number : 9 Question Id : 68634044058 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct pair of prepositions to fill in the blanks of the following sentence:
She walked her friend the rally to support the workers.

1. beside. during

| )

. besides. beside
3. during. beside
4, with. on

Options :

686340174033. 1
686340174034. 2
686340174035. 3
686340174036. 4

Question Number : 10 Question Id : 68634044059 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Word Tyvpe of pronoun
A |what I freflexive
B. jmyself II. |relative
C. |his ITT. Jindefinite
D. [somewhere IV Jpossessive

Choose the most appropriate answer from the options given below:
1. A-IT. B-I. C-IV. D-III
2. A-I B-III, C-II, D-IV
3. A-IIL, B-1. C-IV. D-TI
4, A-IV, B-II, C-I, D-III

Options :

686340174037. 1
686340174038. 2
686340174039. 3
686340174040. 4

Question Number : 10 Question Id : 68634044059 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Word Tvpe of pronoun
A lwhat I jreflexive
B. lmyself II. kelative
C. |his II1. jindefinite
D_ [somewhere IV Jpossessive

Choose the most appropriate answer from the options given below:

1. A-II. B-L. C-IV, D-III

[ ]

AT BT C-II, DIV

L]

AT B-L C-IV, D-II
4. ATV, BII. C-I, DI

Options :

686340174037. 1
686340174038. 2
686340174039. 3
686340174040. 4

Question Number : 10 Question Id : 68634044059 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Word Type of pronoun
A lwhat I jreflexive
B. jmyself II. kelative
C. |his ITT. Jindefinite
D. [somewhere IV Jpossessive

Choose the most appropriate answer from the options given below:

1. A-II. B-I. C-IV. D-III

[ ]

AT BT C-II, DIV
3. A-IIT, B-I, C-IV, D-II
4. ATV, BII. C-I, DI

Options :

686340174037. 1
686340174038. 2
686340174039. 3
686340174040. 4



Question Number : 11 Question Id : 68634044060 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the average of first five multiples of 3 and first five multiples of 5.

1.20

(B

.16

4,22

Options :

686340174041. 1
686340174042. 2
686340174043. 3
686340174044. 4

Question Number : 11 Question Id : 68634044060 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the average of first five multiples of 3 and first five multiples of 5.

1.20

b2

16

4, 22

Options :

686340174041. 1
686340174042. 2
686340174043 3
686340174044. 4

Question Number : 11 Question Id : 68634044060 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the average of first five multiples of 3 and first five multiples of 5.

1.20

b2

16



Options :

686340174041. 1
686340174042. 2
686340174043. 3
686340174044. 4

Question Number : 12 Question Id : 68634044061 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Simplify

09-[23-32-(73-54-3.7)]

[ )
=

4,-2.6

Options :

686340174045. 1
686340174046. 2
686340174047. 3
686340174048. 4

Question Number : 12 Question Id : 68634044061 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Simplify

09-[23-32-(73-54-3.7)]

1.0.18

| )
=

4.-2.6

Options :

686340174045. 1
686340174046. 2
686340174047. 3
686340174048. 4

Question Number : 12 Question Id : 68634044061 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Simplify
e W W S WY

1.0.18

[ )
=

4.-2.6

Options :

686340174045. 1
686340174046. 2
686340174047. 3
686340174048. 4

Question Number : 13 Question Id : 68634044062 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Perimeter of a square 1s same as perimeter of a rectangle. If sides of rectangle are in the ratio 17:11. then find
the ratio in the areas of the square and the rectangle.

1.17:11

| B

. 10:9
3. 114:113

4. 196:187

Options :

686340174049. 1
686340174050. 2
686340174051. 3
686340174052. 4

Question Number : 13 Question Id : 68634044062 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Perimeter of a square is same as perimeter of a rectangle. If sides of rectangle are in the ratio 17:11. then find
the ratio in the areas of the square and the rectangle.

1.17:11

| ]

. 10:9

3. 114:113

4. 196:187



Options :

686340174049. 1
686340174050. 2
686340174051. 3
686340174052. 4

Question Number : 13 Question Id : 68634044062 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Perimeter of a square is same as perimeter of a rectangle. If sides of rectangle are in the ratio 17:11. then find
the ratio in the areas of the square and the rectangle.

1. 17:11

| )

. 10:9
3. 114:113
4, 196:187

Options :

686340174049. 1
686340174050. 2
686340174051. 3
686340174052. 4

Question Number : 14 Question Id : 68634044063 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

On a certain sum of money lent at 16% per annum. the difference between the compound interest for lyear,
payable half yearly and the simple interest for 1 year 1s ¥ 56. The sum 1s:

1. 25,780

| B

.2 7,805

4. % 8,750

Options :

686340174053. 1
686340174054. 2
686340174055. 3
686340174056. 4

Question Number : 14 Question Id : 68634044063 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



On a certain sum of money lent at 16% per annum. the difference between the compound interest for 1year.
payable half yearly and the simple interest for 1 year 1s T 56. The sum 1s:

1.2 5,780

2. 37,805

Options :

686340174053. 1
686340174054. 2
686340174055. 3
686340174056. 4

Question Number : 14 Question Id : 68634044063 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

On a certain sum of money lent at 16% per annum. the difference between the compound interest for lyear,
payable half yearly and the simple interest for 1 year 1s ¥ 56. The sum 1s:

1.7 5,780
2.2 7.805
3.2 7.850
4. % 8,750
Options :
686340174053. 1
686340174054. 2

686340174055. 3
686340174056. 4

Question Number : 15 Question Id : 68634044064 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The average age of three boys i1s 22 years. Eight times the age of the youngest of them is 3 times the sum of
the ages of the other two boys. Find the age of the eldest of them if he is 8 years older to the youngest of them.

1. 24 years
2. 25 years
3. 26 years

4. 28 years



Options :

686340174057. 1
686340174058. 2
686340174059. 3
686340174060. 4

Question Number : 15 Question Id : 68634044064 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average age of three boys is 22 years. Eight times the age of the youngest of them is 3 times the sum of
the ages of the other two boys. Find the age of the eldest of them if he is 8 years older to the youngest of them.

1. 24 years

| )

. 25 years
3. 26 years
4. 28 years

Options :

686340174057. 1
686340174058. 2
686340174059. 3
686340174060. 4

Question Number : 15 Question Id : 68634044064 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average age of three boys is 22 years. Eight times the age of the youngest of them is 3 times the sum of
the ages of the other two boys. Find the age of the eldest of them if he is 8 years older to the youngest of them.

1. 24 years

| )

. 25 years
3. 26 years
4. 28 years

Options :

686340174057. 1
686340174058. 2
686340174059. 3
686340174060. 4

Question Number : 16 Question Id : 68634044065 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below is the statement followed by two conclusions numbered I and II.

Statement : Our securities investment carry market risk. Consult your investment advisor or agent before
investing.

Conclusions I : One should not invest in securities.
IT : The investment advisor calculates the market risk with certainty.

Identify which of the conclusions follows the given statement:

1. Only II follows

| ]

. Only I follows
3. Both I and II follows

4. Either I or IT follows
Options :
686340174061. 1
686340174062. 2

686340174063. 3
686340174064. 4

Question Number : 16 Question Id : 68634044065 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below is the statement followed by two conclusions numbered I and II.

Statement : Our securities investment carry market risk. Consult your investment advisor or agent before
investing.

Conclusions I : One should not invest in securities.
IT : The investment advisor calculates the market risk with certainty.

Identify which of the conclusions follows the given statement:

1. Only II follows

| ]

. Only I follows
3. Both I and II follows

4. Either I or II follows

Options :

686340174061. 1
686340174062. 2
686340174063. 3
686340174064. 4



Question Number : 16 Question Id : 68634044065 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below is the statement followed by two conclusions numbered I and II.

Statement : Our securities investment carry market risk. Consult your investment advisor or agent before
investing.

Conclusions I : One should not invest in securities.
II : The investment advisor calculates the market risk with certainty.
Identify which of the conclusions follows the given statement:

1. Only II follows

| ]

. Only I follows
3. Both I and IT follows

4, Either I or II follows

Options :

686340174061. 1
686340174062. 2
686340174063. 3
686340174064. 4

Question Number : 17 Question Id : 68634044066 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the correct water image of the given figure (X)

S

Fig (x)

olalslN

Options :

686340174065. 1
686340174066. 2
686340174067. 3
686340174068. 4

Question Number : 17 Question Id : 68634044066 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the correct water image of the given figure (X)

S

Fig (x)

olalslN

Options :

686340174065. 1
686340174066. 2
686340174067. 3
686340174068. 4

Question Number : 17 Question Id : 68634044066 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the correct water image of the given figure (X)

S

Fig (x)

olalslN

Options :

686340174065. 1
686340174066. 2
686340174067. 3
686340174068. 4

Question Number : 18 Question Id : 68634044067 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In a certain coding system. 1f2=15,4=18. 6 =39 then 10 =7

1. 105

| B
Yok
=
i

4.54

Options :



686340174069. 1
686340174070. 2
686340174071. 3
686340174072. 4

Question Number : 18 Question Id : 68634044067 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In a certam coding system. 1f2 =15, 4 =18. 6 = 39 then 10 =7

1. 105

[ )

. 104
3.89
4.54

Options :

686340174069. 1
686340174070. 2
686340174071. 3
686340174072. 4

Question Number : 18 Question Id : 68634044067 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In a certam coding system. 1f2 =15, 4 =18. 6 = 39 then 10 =7

1. 105

[ )

104
3. 89
4.54

Options :

686340174069. 1
686340174070. 2
686340174071. 3
686340174072. 4

Question Number : 19 Question Id : 68634044068 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the mirror image of the given combination

"AN5S4WMG3"
LEDMWEREZMA
2.EDWMPSNV
3.3GWMYR2MY
4L ECWM P2 UV

Options :

686340174073. 1
686340174074. 2
686340174075. 3
686340174076. 4

Question Number : 19 Question Id : 68634044068 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the mirror image of the given combination

"AN5S4WMG3"
LEDMWEREZMA

LEDWMPSNV
3.3GWMt2 UV
L ECWMY2ZUY

Options :

686340174073. 1
686340174074. 2
686340174075. 3
686340174076. 4

Question Number : 19 Question Id : 68634044068 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the mirror image of the given combination

"AN5S4WMG3"
LEDMWEREZMA
2.EDWMPSNV
3.3GWMYR2MY
4L ECWM P2 UV

Options :

686340174073. 1
686340174074. 2
686340174075. 3
686340174076. 4

Question Number : 20 Question Id : 68634044069 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In you were born on 6th
birthday fall in 19847

November. 1983. which was a Sunday. then on which day of the week does your

1. Monday

2. Wednesday
3. Tuesday

4, Friday

Options :

686340174077. 1
686340174078. 2
686340174079. 3
686340174080. 4

Question Number : 20 Question Id : 68634044069 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In you were born on 6" November, 1983. which was a Sunday. then on which day of the week does your
birthday fall in 19847

1. Monday

b2

. Wednesday

L

. Tuesday

=

. Friday

Options :

686340174077. 1
686340174078. 2
686340174079. 3
686340174080. 4

Question Number : 20 Question Id : 68634044069 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In you were born on 6" November, 1983, which was a Sunday. then on which day of the week does your
birthday fall in 19847

1. Monday

2. Wednesday

3. Tuesday

4. Friday
Options :
686340174077. 1
686340174078. 2

686340174079. 3
686340174080. 4

Question Number : 21 Question Id : 68634044070 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Satellite having the same orbital period as the period of rotation of the earth about its own axis is known as

1. Polar Satellite

[ B

. Stationary Satellite

3. Geostationary Satellite

f-%

INSAT



Options :

686340174081. 1
686340174082. 2
686340174083. 3
686340174084. 4

Question Number : 21 Question Id : 68634044070 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Satellite having the same orbital period as the period of rotation of the earth about its own axis 1s known as

1. Polar Satellite
2. Stationary Satellite
3. Geostationary Satellite

4, INSAT

Options :

686340174081. 1
686340174082. 2
686340174083. 3
686340174084. 4

Question Number : 21 Question Id : 68634044070 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Satellite having the same orbital period as the period of rotation of the earth about its own axis 1s known as

1. Polar Satellite
2. Stationary Satellite
3. Geostationary Satellite

4. INSAT

Options :

686340174081. 1
686340174082. 2
686340174083. 3
686340174084. 4

Question Number : 22 Question Id : 68634044071 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Aluminium company Location
A [BALCO I HIRAKUND
B. HINDALCO II. [KORBA
C. |Indian Aluminum Company III. [KORAPUT
D [NALCO IV [RENUKOAT

Choose the most appropriate answer from the options given below:

1. A-III, B-I, C-IV, D-II

[ ]

AL B-TV, C-1, D-III

L]

AT B-IV. C-1, D-II
4. A1 B-1, C-IV, DI

Options :

686340174085. 1
686340174086. 2
686340174087. 3
686340174088. 4

Question Number : 22 Question Id : 68634044071 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Aluminium company Location
A [BALCO I HIRAKUND
B. HINDALCO I [KORBA
C. |Indian Aluminum Company I [KORAPUT
D. [NALCO IV [RENUKOAT

Choose the most appropriate answer from the options given below:

1. A-III, B-I, C-IV, D-II

[ ]

AL B-TV, C-1, D-III
3. A-IIT, B-IV, C-1, D-II
4. AT B-1, C-IV, DI

Options :

686340174085. 1
686340174086. 2
686340174087. 3
686340174088. 4



Question Number : 22 Question Id : 68634044071 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTII
Aluminium company Location
A [BALCO I HIRAKUND
B. HINDALCO I [KORBA
C. |[Indian Aluminum Company II1. [KORAPUT
D. [NALCO IV. [RENUKOAT

Choose the most appropriate answer from the options given below:

1. A-III, B-1, C-IV. D-I1
2. AIL B-IV, C-I, D-1IT
3. AL BIV.CI DI
4. A-II B-1, C-IV, D-1I1

Options :

686340174085. 1

686340174086. 2

686340174087. 3
686340174088. 4

Question Number : 23 Question Id : 68634044072 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The speaker can stop a member of Parliament from speaking and let another member speak. This phenomenon
is known as

1. Decorum

[ ]

. Crossing the floor
3. Interpellation
4. Yielding the floor

Options :

686340174089. 1
686340174090. 2
686340174091. 3
686340174092. 4

Question Number : 23 Question Id : 68634044072 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The speaker can stop a member of Parliament from speaking and let another member speak. This phenomenon
is known as

1. Decorum

| )

. Crossing the floor
3. Interpellation
4. Yielding the floor

Options :

686340174089. 1
686340174090. 2
686340174091. 3
686340174092. 4

Question Number : 23 Question Id : 68634044072 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The speaker can stop a member of Parliament from speaking and let another member speak. This phenomenon
is known as

1. Decorum

| )

. Crossing the floor
3. Interpellation
4. Yielding the floor

Options :

686340174089. 1
686340174090. 2
686340174091. 3
686340174092. 4

Question Number : 24 Question Id : 68634044073 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Religious Institution Founder
A |Arva Samaj I. |Gopal Krishna Gokhle
B. [Famakrishna Mission II. N M Joshi
C. |Servant of Indian society IT1. [Dayanand Saraswarti
D_ |Social Sevice League IV |Swami Vivekananda

Choose the most appropriate answer from the options given below:

1. A-IIL, B-IV. C-II. D-I

[ ]

AL B-IV. C-1, D-IT

L]

CA-IV. B-II, C-1, D-II
4. AT B-IV, C-I, DT

Options :

686340174093. 1
686340174094. 2
686340174095. 3
686340174096. 4

Question Number : 24 Question Id : 68634044073 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Religious Institution Founder
A |Arva Samaj I. |Gopal Krishna Gokhle
B. [Famakrishna Mission II. INM Joshi
C. |Servant of Indian society 1M1 [Dayanand Saraswati
D. [Social Sevice League IV, |Swami Vivekananda

Choose the most appropriate answer from the options given below:

1. A-TIL, B-IV, C-1I. D-I

[ ]

AL B-IV. C-1, D-IT
3. A IV, B-III, C-1, D-II
4. AT B-IV, C-I, DI

Options :

686340174093. 1
686340174094. 2
686340174095. 3
686340174096. 4



Question Number : 24 Question Id : 68634044073 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTII
Religious Institution Founder
A |Arva Samaj I. |Gopal Krishna Gokhle
B. [Ramakrishna Mission IT. IN.M Joshi
C. |Servant of Indian society II1. |Davanand Saraswati
D. |Social Sevice League IV, |Swami Vivekananda

Choose the most appropriate answer from the options given below:

1. ATl BIV. C-II. DI

| ]

AL B-IV, C-1, D-II

5]

CA-IV, BT, C-1, D-IT
4. A-II B-IV, C-1, D-111

Options :

686340174093. 1
686340174094. 2
686340174095. 3
686340174096. 4

Question Number : 25 Question Id : 68634044074 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Point of origin of earthquake wave is known as

1. Seismic zone
2. Focus
3. Photosphere
4. Epicentre

Options :

686340174097. 1

686340174098. 2

686340174099. 3
686340174100. 4

Question Number : 25 Question Id : 68634044074 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Point of origin of earthquake wave is known as

1. Seismic zone

2

. Focus

LFS]

. Photosphere
4, Epicentre
Options :
686340174097. 1
686340174098. 2

686340174099. 3
686340174100. 4

Question Number : 25 Question Id : 68634044074 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Point of origin of earthquake wave is known as
1. Seismic zone
2. Focus
3. Photosphere
4. Epicentre
Options :
686340174097. 1
686340174098. 2

686340174099. 3
686340174100. 4

Part B: Urdu Journalism

Section Id : 686340868
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401441
Question Shuffling Allowed : Yes

Is Section Default? : null



Question Number : 26 Question Id : 68634044075 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B . S 4 F foat | b . i 4%
ol B T el ey g il e Gl gty

BRI RE=T SR

[ S}

REIF N
3. el b
4, S alaa fal

Options :

686340174101. 1
686340174102. 2
686340174103. 3
686340174104. 4

Question Number : 26 Question Id : 68634044075 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e Fe. . 2. = ar IR, | e e 1% AL
,____’,_‘_’«..5 Al e u'lﬁu-"]jf__-)-*‘u'—'j_.'

| ]

gl JaE
3. ieal i
4, Slg cmlia fala

Options :

686340174101. 1
686340174102. 2
686340174103. 3
686340174104. 4

Question Number : 26 Question Id : 68634044075 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

filly i 512 g gald! iy (Mg i e (gt

| ]



Options :

686340174101. 1
686340174102. 2
686340174103. 3
686340174104. 4

Question Number : 27 Question Id : 68634044076 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IT Cu g
disd Ll s3.A

Ja I1 =B
Cilaia JIT ;0
i IV Sl D

1.LA-IV.B-1.C-II.D-III

-2

A-LB-NILC-IV.D-II
3JA-NI.LB-II.C-I.D-1IV
4 A-II.B-IV.C-III.D-1I

Options :

686340174105. 1
686340174106. 2
686340174107. 3
686340174108. 4

Question Number : 27 Question Id : 68634044076 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- i3S o el S j}:‘ S pd

IT Zo i J RSP
dind L3 A

ds 11 = B
Cilaia JIT ;0
il IV Jsl D

1.LA-IV.B-1.C-II.D-III
2A-ILB-II.C-IV.D-II
JA-NIILLB-II.C-L.D-1IV
4 A-II.B-IV.C-III.D-1I

Options :

686340174105. 1
686340174106. 2
686340174107. 3
686340174108. 4

Question Number : 27 Question Id : 68634044076 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S 0 A LS Fas i g

IT Zo i J RSP
diod Lal 3 A

ds 11 = B
Cilaia JIT ;0
il IV Jsl D

1.LA-IV.B-1.C-II.D-III

[

A-LB-NILC-IV.D-II
JJA-IIILB-II.C-L.D-1IV
4 A-II.B-IV.C-III.D-1I

Options :

686340174105. 1
686340174106. 2



686340174107. 3
686340174108. 4

Question Number : 28 Question Id : 68634044077 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

]_.:\)gi

2.4 s

4. N8I

Options :

686340174109. 1
686340174110. 2
686340174111. 3
686340174112. 4

Question Number : 28 Question Id : 68634044077 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4. N8I

Options :

686340174109. 1
686340174110. 2
686340174111. 3
686340174112. 4

Question Number : 28 Question Id : 68634044077 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-‘\_ln_u
-

" Hom

Options :

686340174109. 1
686340174110. 2
686340174111.3
686340174112. 4

Question Number : 29 Question Id : 68634044078 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S S S e ) e gy SR S O

e L.:__-_A._JJ};“_)—#]_Q?? ._§;_.5:I)_~_n_| adl ]

L) S G late ) 5 (Edwin Armstrong) S 2l a1 550 T

Lo 2 os 0 ITJs 81U 4

| S

comhle JER TR S5 T4
j.fall:]:]:_;}! }jﬁ:_'»;_-_;-‘l‘_;}é

4o m o I J 8 s mRle [ ]88
Options :
686340174113. 1
686340174114. 2
686340174115. 3
686340174116. 4

Question Number : 29 Question Id : 68634044078 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



p e el e e 1977 SEUS 3 i ad T

5
o

0.
o
(gl

Al S et ) = (Edwin Armstrong) & P T L ||

Lo 2 os 0 ITJs 81U 4

| B

ceomdls T8 )T J8E

L]

el ITJ gy o 29

4o m i 2T dg s mRe 8
Options :
686340174113. 1
686340174114. 2
686340174115. 3
686340174116. 4

Question Number : 29 Question Id : 68634044078 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SR 5 e el e e 1077 SIS I i) adl ]

Ul S jeie ) = (Edwin Armstrong) <55 £l a )l 5 1

Loop e 080 TTJS H9 T8

| S

comdble JEe TS S5 I8
3. bl I dgh 5y o pT A
4o mmm 2T d8 5 —mRE[J$

Options :

686340174113. 1
686340174114. 2
686340174115. 3
686340174116. 4

Question Number : 30 Question Id : 68634044079 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



LS 5 Ja = T 'i.;_/uaﬁ' )I;_"n] =_;‘rf,$-l'|

[

L o8 gl e s gige
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Options :

686340174117. 1
686340174118.2
686340174119. 3
686340174120. 4

Question Number : 30 Question Id : 68634044079 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
s e == ';i.;_/....zE’ Sl J_'.‘.-'_Jg-l'l
L. Ol El e 550 9
2. 3',':7 ':‘:J‘S'I'"jr" i'l'\s}“"
3. ke de dema LY g

Options :

686340174117. 1
686340174118.2
686340174119. 3
686340174120. 4

Question Number : 30 Question Id : 68634044079 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S 5 gl ST el LA g 3 B
.- Opll E et 54l g
2, 3 3 2350 gl U 5
3. pes et W

Options :
686340174117. 1
686340174118. 2



686340174119. 3
686340174120. 4

Question Number : 31 Question Id : 68634044080 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FL—EA;‘-'IA-'IB-SI:TRij J=

1. Total Rating Points

| B}

. Television Rating Points
3. Theme Rating Points
4. Time Rating Points

Options :

686340174121. 1
686340174122. 2
686340174123. 3
686340174124. 4

Question Number : 31 Question Id : 68634044080 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FL—EA;‘-'IA-'IB-SI:TRij J=

1. Total Rating Points

| B}

. Television Rating Points
3. Theme Rating Points
4. Time Rating Points

Options :

686340174121. 1
686340174122. 2
686340174123. 3
686340174124. 4

Question Number : 31 Question Id : 68634044080 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(=2 RS (TRP) = )l A

1. Total Rating Points

)

. Television Rating Points
3. Theme Rating Points
4. Time Rating Points

Options :

686340174121. 1
686340174122. 2
686340174123. 3
686340174124. 4

Question Number : 32 Question Id : 68634044081 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 9 DY 5 Sl (S e B <1857

L |
—I._:-—.] | _,.‘.i

Options :

686340174125. 1
686340174126. 2
686340174127. 3
686340174128. 4

Question Number : 32 Question Id : 68634044081 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt g Sl S (e B S 1857

1l elS2 56 s

e T
R BTN R
. ¥ - W

| B}

3, et Lol aclie
4. s A sl
Options :

686340174125. 1
686340174126. 2



686340174127. 3
686340174128. 4

Question Number : 32 Question Id : 68634044081 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt g Y g S el 8 e 5 <1857

-:'. o) il ;_{f

3 _'....7_1;'. ks
L |
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Options :

686340174125. 1
686340174126. 2
686340174127. 3
686340174128. 4

Question Number : 33 Question Id : 68634044082 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ESEUTIRETI o 1o PORUI R e+ b1
e ol O el

1yl 6 op 8

| o]

L3S es

S
Options :

686340174129. 1
686340174130. 2
686340174131. 3
686340174132. 4

Question Number : 33 Question Id : 68634044082 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



E
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S
Options :

686340174129. 1
686340174130. 2
686340174131. 3
686340174132. 4

Question Number : 33 Question Id : 68634044082 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ey B T A e v by
e ol O el

—

Sl 5oy R

e

| o]

L3S es

3.

S
Options :

686340174129. 1
686340174130. 2
686340174131. 3
686340174132. 4

Question Number : 34 Question Id : 68634044083 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174133. 1
686340174134. 2
686340174135. 3
686340174136. 4

Question Number : 34 Question Id : 68634044083 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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o |
e
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by
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Options :

686340174133. 1
686340174134. 2
686340174135. 3
686340174136. 4

Question Number : 34 Question Id : 68634044083 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WO dawadg S g
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Options :
686340174133. 1
686340174134. 2



686340174135. 3
686340174136. 4

Question Number : 35 Question Id : 68634044084 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e e B L e 1055 S i At A
SN Sl 2 e B
LELS i e 3 ) Shgy cnlis 113 65 (5350 o s (122 1980 -C
s e i Al SR ) =D
A U e S5 e e e e S Sl OSSE
S A 8 e e e g St e
I.BE 5B i pa
2.E 3 C ~_'n)-=l
3.C gt Asd pa
4.E s A pa
Options :
686340174137. 1
686340174138. 2

686340174139. 3
686340174140. 4

Question Number : 35 Question Id : 68634044084 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e e B L e 1055 S s afel A
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LC s A S pa
4.E s Acipa
Options :
686340174137. 1
686340174138. 2

686340174139. 3
686340174140. 4

Question Number : 35 Question Id : 68634044084 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
W S A L e 1055 e cus A
S al Sy Sy e B
.|j .4 _'J1_‘\.5'_J... — j)'ﬁ' _.ﬁ_]'.{.lll tnlia fald _’55 e el i 1980 -.C
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Options :

686340174137. 1
686340174138. 2
686340174139. 3
686340174140. 4



Question Number : 36 Question Id : 68634044085 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

¢ el bl IS A M Col we LS j..ﬁ 5 3l
o =) i -l G I
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3. 5l e paia
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Options :
686340174141. 1
686340174142. 2
686340174143. 3
686340174144. 4

Question Number : 36 Question Id : 68634044085 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1

fot O 50y

il s S S 5
2. )8

4, S o g &
Options :
686340174141. 1
686340174142. 2
686340174143. 3
686340174144. 4

Question Number : 36 Question Id : 68634044085 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340174141. 1
686340174142. 2
686340174143. 3
686340174144. 4

Question Number : 37 Question Id : 68634044086 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

r: eSS S Wil g )
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Options :

686340174145. 1
686340174146. 2
686340174147. 3
686340174148. 4

Question Number : 37 Question Id : 68634044086 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

r/,_- \_J é _-.5. LN j;J]I

2. Ailens o5l
3. e deng

Options :
686340174145. 1
686340174146. 2



686340174147. 3
686340174148. 4

Question Number : 37 Question Id : 68634044086 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

f,.___' oS S Sl g )

Options :

686340174145. 1
686340174146. 2
686340174147. 3
686340174148. 4

Question Number : 38 Question Id : 68634044087 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S e S el

3. b A el
_'I. o W ‘;'}S%‘

Options :

686340174149. 1
686340174150. 2
686340174151. 3
686340174152. 4

Question Number : 38 Question Id : 68634044087 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S e S el
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Options :

686340174149. 1
686340174150. 2
686340174151. 3
686340174152. 4

Question Number : 38 Question Id : 68634044087 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3. OB el

4,33y s
Options :
686340174149. 1
686340174150. 2

686340174151. 3
686340174152. 4

Question Number : 39 Question Id : 68634044088 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tl e oo e e _uS 35 1S (RTT) S50 SileSal 3a
1. 2003
2.2004
3. 2006
4. 2005
Options :

686340174153. 1
686340174154. 2



686340174155. 3
686340174156. 4

Question Number : 39 Question Id : 68634044088 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tl e Jae s o S 2 LS (RTT) 2801 e Sal 3a
1. 2003
2.2004
3. 2006
4. 2005
Options :
686340174153. 1
686340174154. 2

686340174155. 3
686340174156. 4

Question Number : 39 Question Id : 68634044088 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tl e oo Lz (e oS S 1S (RTT) 259 il Skl 3
1. 2003
2.2004
3. 2006
4. 2005
Options :
686340174153. 1
686340174154. 2

686340174155. 3
686340174156. 4

Question Number : 40 Question Id : 68634044089 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174157. 1
686340174158. 2
686340174159. 3
686340174160. 4

Question Number : 40 Question Id : 68634044089 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174157. 1
686340174158. 2
686340174159. 3
686340174160. 4

Question Number : 40 Question Id : 68634044089 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174157. 1
686340174158. 2



686340174159. 3
686340174160. 4

Question Number : 41 Question Id : 68634044090 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5 S el S

Ny =S JHe Ra (5 gt B

1.D,B,.C.E.A
206 A BB 1
3.B,A,DE.C
4. E C.A.D.B

Options :

686340174161. 1
686340174162. 2
686340174163. 3
686340174164. 4

Question Number : 41 Question Id : 68634044090 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340174161. 1
686340174162. 2

686340174163. 3
686340174164. 4

Question Number : 41 Question Id : 68634044090 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
5 oS el S s A
S S8 e B g st B
Sy e 3l sl C
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Ada S0 & e Zial ¢l il gles F
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Options :

686340174161. 1
686340174162. 2
686340174163. 3



686340174164. 4

Question Number : 42 Question Id : 68634044091 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174165. 1
686340174166. 2
686340174167 3
686340174168. 4

Question Number : 42 Question Id : 68634044091 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2. 313 aSsd) gl UY ge

3. pe o daaa UY e
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Options :

686340174165. 1
686340174166. 2
686340174167. 3
686340174168. 4

Question Number : 42 Question Id : 68634044091 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TS 6 S Jhal e

)

o J'-.T A gl LY e

Lad

4 _..Is.ﬁu.:u\gru
T - -

Options :

686340174165. 1
686340174166. 2
686340174167. 3
686340174168. 4

Question Number : 43 Question Id : 68634044092 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ptp Ry e S S iia e S ik
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2. S S

3. 2 € 5 s Al
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Options :

686340174169. 1
686340174170. 2
686340174171. 3
686340174172 4

Question Number : 43 Question Id : 68634044092 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340174169. 1
686340174170. 2



686340174171. 3
686340174172. 4

Question Number : 43 Question Id : 68634044092 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174169. 1
686340174170. 2
686340174171. 3
686340174172. 4

Question Number : 44 Question Id : 68634044093 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174173.
686340174174.
686340174175.
686340174176.

AW N —

Question Number : 44 Question Id : 68634044093 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174173.
686340174174.
686340174175.
686340174176.

A W N =

Question Number : 44 Question Id : 68634044093 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174173.
686340174174.
686340174175.
686340174176.

AW N —

Question Number : 45 Question Id : 68634044094 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

€L £ < (International Booker Prize) a=il S5 ool &Y 50 1S 2022

3.zl Ol yga
4558 lanit
Options :

686340174177. 1
686340174178. 2



686340174179. 3
686340174180. 4

Question Number : 45 Question Id : 68634044094 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

f.& 1 £ < (International Booker Prize) aadl S s o) 8Y1 S 2022

4. 535 AaG8

Options :

686340174177. 1
686340174178. 2
686340174179. 3
686340174180. 4

Question Number : 45 Question Id : 68634044094 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

€L £ < (International Booker Prize) a=il S5 ool &Y 50 1S 2022

4.5 08 Jaiil
Options :
686340174177. 1
686340174178. 2
686340174179. 3
686340174180. 4

Question Number : 46 Question Id : 68634044095 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174181. 1
686340174182. 2
686340174183. 3
686340174184. 4

Question Number : 46 Question Id : 68634044095 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174181. 1
686340174182. 2
686340174183. 3
686340174184. 4

Question Number : 46 Question Id : 68634044095 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340174181. 1
686340174182. 2



686340174183. 3
686340174184. 4

Question Number : 47 Question Id : 68634044096 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174185. 1
686340174186. 2
686340174187. 3
686340174188. 4

Question Number : 47 Question Id : 68634044096 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174185. 1
686340174186. 2
686340174187. 3
686340174188. 4

Question Number : 47 Question Id : 68634044096 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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| B

A-ILB-ILC-IV.D-1
JA-IVB-INI.C-1.D-1I
4 A-ILB-LC-IIL.LD-1IV

Options :

686340174185. 1
686340174186. 2
686340174187. 3
686340174188. 4

Question Number : 48 Question Id : 68634044097 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174189. 1
686340174190. 2
686340174191. 3
686340174192. 4



Question Number : 48 Question Id : 68634044097 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

f= ._-.—-"-':5 O e B Ha = R

L)
-

a0

't

4. 5 S Ui

Options :

686340174189. 1
686340174190. 2
686340174191. 3
686340174192. 4

Question Number : 48 Question Id : 68634044097 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T G . o A Py DL (S b S
o SPE U8 2 Bl JEA L S led i el

2. YU e
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Options :

686340174189. 1
686340174190. 2
686340174191. 3
686340174192. 4

Question Number : 49 Question Id : 68634044098 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174193. 1
686340174194. 2
686340174195. 3
686340174196. 4

Question Number : 49 Question Id : 68634044098 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1. dwat £ 55580
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LT N
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Options :

686340174193. 1
686340174194. 2
686340174195. 3
686340174196. 4

Question Number : 49 Question Id : 68634044098 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1. duat £ 5580
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" st
v

3. GBS
4. 3 G
Options :

686340174193. 1
686340174194. 2



686340174195. 3
686340174196. 4

Question Number : 50 Question Id : 68634044099 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A g5 8 QA A i
A0 A 5 g Mo
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1. 331 ASED il UY ge
2. pysigleidanaliy g
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Options :

686340174197. 1
686340174198. 2
686340174199. 3
686340174200. 4

Question Number : 50 Question Id : 68634044099 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
PG g S S i g
A5 AL § g e s
S & gl
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3. gl Al
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Options :

686340174197. 1
686340174198. 2
686340174199. 3
686340174200. 4

Question Number : 50 Question Id : 68634044099 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174197. 1
686340174198. 2
686340174199. 3
686340174200. 4

Question Number : 51 Question Id : 68634044100 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g e P IR 1 . B [ “a. W % 1 Py = o =
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A

1. 1901
2. 1902
3. 1903

4. 1904

Options :

686340174201. 1
686340174202. 2
686340174203. 3
686340174204. 4

Question Number : 51 Question Id : 68634044100 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



# A
1.1901
2. 1902
3. 1903

4. 1904

Options :

686340174201. 1
686340174202. 2
686340174203. 3
686340174204. 4

Question Number : 51 Question Id : 68634044100 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
O g addi S " gl A g ATl W) g el DA Sy K

il
[y i g L o T S &

1. 1901

)
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3. 1903

4. 1904

Options :

686340174201. 1
686340174202. 2
686340174203. 3
686340174204. 4

Question Number : 52 Question Id : 68634044101 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

L o i} \ ARt i e e

Options :
686340174205. 1
686340174206. 2



686340174207. 3
686340174208. 4

Question Number : 52 Question Id : 68634044101 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

¢ AU g g (S AN S g 0oy
1. J=u
2. &3
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3. sl s
4. zuaag
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Options :

686340174205. 1
686340174206. 2
686340174207. 3
686340174208. 4

Question Number : 52 Question Id : 68634044101 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gl 0SS g e S LA S g iy

o TR ™

Options :

686340174205. 1
686340174206. 2
686340174207. 3
686340174208. 4

Question Number : 53 Question Id : 68634044102 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174209. 1
686340174210. 2
686340174211. 3
686340174212. 4

Question Number : 53 Question Id : 68634044102 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174209. 1
686340174210. 2
686340174211. 3
686340174212. 4

Question Number : 53 Question Id : 68634044102 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174209. 1
686340174210. 2
686340174211. 3
686340174212. 4

Question Number : 54 Question Id : 68634044103 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A Ny e e S D e 1845
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Options :

686340174213. 1
686340174214. 2
686340174215. 3
686340174216. 4

Question Number : 54 Question Id : 68634044103 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174213. 1
686340174214. 2
686340174215. 3
686340174216. 4

Question Number : 54 Question Id : 68634044103 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

O O R S S el ) A iy S s s e S M2 e 1845
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Options :

686340174213. 1
686340174214. 2
686340174215. 3
686340174216. 4

Question Number : 55 Question Id : 68634044104 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sy

i | X L -1
_571_,’)_1;,__.__.:5 AN Bl

L |

!._.l
i
Lok
[~

Options :
686340174217. 1
686340174218. 2



686340174219. 3
686340174220. 4

Question Number : 55 Question Id : 68634044104 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174217. 1
686340174218. 2
686340174219. 3
686340174220. 4

Question Number : 55 Question Id : 68634044104 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174217. 1
686340174218. 2
686340174219. 3
686340174220. 4

Question Number : 56 Question Id : 68634044105 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174221. 1
686340174222. 2
686340174223. 3
686340174224. 4

Question Number : 56 Question Id : 68634044105 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Pt U5 gy g AR O SA Ly Slein Jiagn s o
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Options :

686340174221. 1
686340174222. 2
686340174223. 3
686340174224. 4

Question Number : 56 Question Id : 68634044105 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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Options :
686340174221. 1
686340174222. 2



686340174223. 3
686340174224. 4

Question Number : 57 Question Id : 68634044106 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 095 e S0 ped el 0y ) S

1 __.l.f- Yeiia] il
" S A o

| o]

_;ﬁ'.-:..ﬂ_).'l...d
A il =y " i
4, Flpe D s B

Options :

686340174225. 1
686340174226. 2
686340174227. 3
686340174228. 4

Question Number : 57 Question Id : 68634044106 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174225. 1
686340174226. 2
686340174227. 3
686340174228. 4

Question Number : 57 Question Id : 68634044106 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174225. 1
686340174226. 2
686340174227. 3
686340174228. 4

Question Number : 58 Question Id : 68634044107 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174229. 1
686340174230. 2
686340174231. 3
686340174232. 4

Question Number : 58 Question Id : 68634044107 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174229. 1
686340174230. 2



686340174231. 3
686340174232. 4

Question Number : 58 Question Id : 68634044107 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174229. 1
686340174230. 2
686340174231. 3
686340174232. 4

Question Number : 59 Question Id : 68634044108 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4 A-III.B-1.C-IV.D-1I

Options :

686340174233. 1
686340174234. 2
686340174235. 3
686340174236. 4

Question Number : 59 Question Id : 68634044108 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174233. 1
686340174234. 2
686340174235. 3
686340174236. 4

Question Number : 59 Question Id : 68634044108 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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JA-LB-ILC-IIL.D-1IV
4 A-III.B-1.C-IV.D-1I

Options :

686340174233. 1
686340174234. 2
686340174235. 3
686340174236. 4

Question Number : 60 Question Id : 68634044109 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174237. 1
686340174238. 2
686340174239. 3
686340174240. 4

Question Number : 60 Question Id : 68634044109 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2. iline At
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Options :

686340174237. 1
686340174238. 2
686340174239. 3
686340174240. 4

Question Number : 60 Question Id : 68634044109 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e .

1

Options :
686340174237. 1
686340174238. 2



686340174239. 3
686340174240. 4

Question Number : 61 Question Id : 68634044110 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174241. 1
686340174242. 2
686340174243. 3
686340174244. 4

Question Number : 61 Question Id : 68634044110 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174241. 1
686340174242. 2
686340174243. 3
686340174244. 4

Question Number : 61 Question Id : 68634044110 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174241. 1
686340174242. 2
686340174243. 3
686340174244. 4

Question Number : 62 Question Id : 68634044111 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174245. 1
686340174246. 2
686340174247. 3
686340174248. 4

Question Number : 62 Question Id : 68634044111 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



L ay R o A I £ i i3 "
,_;5:__‘;_:\..111_;(____...._‘;..3:. J—““H\:lﬂ/_——fﬂﬂ_’pﬁ_;j—lﬁ—\uéja-’—uﬂﬁlﬂ

‘.),__I".S_;..S‘_:.jéal__-

3. 485309

P I 3

4. p5ad )
Options :

686340174245. 1
686340174246. 2
686340174247. 3
686340174248. 4

Question Number : 62 Question Id : 68634044111 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174245. 1
686340174246. 2
686340174247. 3
686340174248. 4

Question Number : 63 Question Id : 68634044112 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174249. 1
686340174250. 2
686340174251. 3
686340174252. 4

Question Number : 63 Question Id : 68634044112 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174249. 1
686340174250. 2
686340174251. 3
686340174252. 4

Question Number : 63 Question Id : 68634044112 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174249. 1
686340174250. 2



686340174251. 3
686340174252. 4

Question Number : 64 Question Id : 68634044113 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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o e S S sl Slue d WS g Zua i
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=
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Options :

686340174253. 1
686340174254. 2
686340174255. 3
686340174256. 4

Question Number : 64 Question Id : 68634044113 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i " Al i = Tl i

Options :

686340174253. 1
686340174254. 2
686340174255. 3
686340174256. 4

Question Number : 64 Question Id : 68634044113 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[
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Options :

686340174253 1
686340174254. 2
686340174255. 3
686340174256. 4

Question Number : 65 Question Id : 68634044114 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

!._.l
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[

A=
E
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Options :

686340174257. 1
686340174258. 2
686340174259. 3
686340174260. 4

Question Number : 65 Question Id : 68634044114 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[
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30 A8 et s

T I

4. ali &L
Options :

686340174257. 1
686340174258. 2



686340174259. 3
686340174260. 4

Question Number : 65 Question Id : 68634044114 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174257. 1
686340174258. 2
686340174259. 3
686340174260. 4

Question Number : 66 Question Id : 68634044115 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
f 1S Pl 58 il LE L e

i g e palic 1S A

B b Eel ol gl S D

4. 3y

Options :

686340174261. 1
686340174262 2
686340174263. 3
686340174264. 4

Question Number : 66 Question Id : 68634044115 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T =S eld Sl Bl e il
i i gl e palic LS B

Ll pBelal pdl oSl

4. 3y

Options :

686340174261. 1
686340174262. 2
686340174263. 3
686340174264. 4

Question Number : 66 Question Id : 68634044115 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(S ol S e e

i i gl e palic LS B

L iy w15 ¢l .__:._",,__J-_}.\.

4, G5

Options :

686340174261. 1
686340174262. 2
686340174263. 3
686340174264. 4

Question Number : 67 Question Id : 68634044116 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T =S eld Sl Bl e il
i i gl e palic LS B
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4. 3y

Options :

686340174265. 1
686340174266. 2
686340174267. 3
686340174268. 4

Question Number : 67 Question Id : 68634044116 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
£ S Pl S B U L e
i i gl e palic LS B

L iy w15 ¢l .__:._",,__J-_}.\.

4, G5

Options :

686340174265. 1
686340174266. 2
686340174267. 3
686340174268. 4

Question Number : 67 Question Id : 68634044116 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174265. 1
686340174266. 2
686340174267. 3
686340174268. 4

Question Number : 68 Question Id : 68634044117 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174269. 1
686340174270. 2
686340174271. 3
686340174272. 4

Question Number : 68 Question Id : 68634044117 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174269. 1
686340174270. 2
686340174271. 3
686340174272. 4

Question Number : 68 Question Id : 68634044117 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174269. 1
686340174270. 2
686340174271. 3
686340174272. 4

Question Number : 69 Question Id : 68634044118 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340174273. 1



686340174274. 2
686340174275. 3
686340174276. 4

Question Number : 69 Question Id : 68634044118 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174273. 1
686340174274. 2
686340174275. 3
686340174276. 4

Question Number : 69 Question Id : 68634044118 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

¢ o aillS ) Wl e
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I
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Options :

686340174273. 1
686340174274. 2
686340174275. 3
686340174276. 4

Question Number : 70 Question Id : 68634044119 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174277. 1
686340174278. 2
686340174279. 3
686340174280. 4

Question Number : 70 Question Id : 68634044119 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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Options :

686340174277. 1
686340174278. 2
686340174279. 3
686340174280. 4

Question Number : 70 Question Id : 68634044119 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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Options :
686340174277. 1
686340174278. 2



686340174279. 3
686340174280. 4

Question Number : 71 Question Id : 68634044120 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174281. 1
686340174282. 2
686340174283. 3
686340174284. 4

Question Number : 71 Question Id : 68634044120 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174281. 1
686340174282. 2
686340174283. 3
686340174284. 4



Question Number : 71 Question Id : 68634044120 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174281. 1
686340174282. 2
686340174283. 3
686340174284. 4

Question Number : 72 Question Id : 68634044121 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174285. 1
686340174286. 2
686340174287. 3
686340174288. 4

Question Number : 72 Question Id : 68634044121 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174285. 1
686340174286. 2
686340174287. 3
686340174288. 4

Question Number : 72 Question Id : 68634044121 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174285. 1
686340174286. 2
686340174287. 3
686340174288. 4

Question Number : 73 Question Id : 68634044122 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340174289. 1
686340174290. 2



686340174291. 3
686340174292. 4

Question Number : 73 Question Id : 68634044122 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174289. 1
686340174290. 2
686340174291. 3
686340174292. 4

Question Number : 73 Question Id : 68634044122 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174289. 1
686340174290. 2
686340174291. 3
686340174292. 4

Question Number : 74 Question Id : 68634044123 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340174293. 1
686340174294. 2

686340174295. 3
686340174296. 4

Question Number : 74 Question Id : 68634044123 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S S alen S o 3 i € g S 0
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3.A.C, D, B, E
4. E.D.C.A.B
Options :
686340174293. 1

686340174294. 2
686340174295. 3



686340174296. 4

Question Number : 74 Question Id : 68634044123 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2.D,E,B,C,A
3.AC,D. B, E
4. E.D.C.A.B

Options :

686340174293. 1
686340174294. 2
686340174295. 3
686340174296. 4

Question Number : 75 Question Id : 68634044124 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174297. 1
686340174298. 2
686340174299. 3
686340174300. 4

Question Number : 75 Question Id : 68634044124 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

686340174297. 1
686340174298. 2
686340174299. 3
686340174300. 4

Question Number : 75 Question Id : 68634044124 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

? o LELS o S Cdlaia e s ol ou S0y —w e did
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Options :

686340174297. 1
686340174298. 2
686340174299. 3
686340174300. 4

Question Number : 76 Question Id : 68634044125 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.LA-ILB-II.C-TI.D-IV

[

A-ILB-ILC-L.D-1IV
JA-TII.LB-IV.C-1.D-1I
4 A-IVB-IL.C-III.D-I

Options :

686340174301. 1
686340174302. 2
686340174303. 3
686340174304. 4

Question Number : 76 Question Id : 68634044125 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IT Ctaa g3 T Cha e
T —osulle A
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1LA-ILB-II.C-III.D-IV

[

A-ILB-ILC-I.D-1IV
JA-IILB-IV.C-1.D-1II
4 A-IVB-II.C-III.D-1I

Options :

686340174301. 1
686340174302. 2
686340174303. 3
686340174304. 4

Question Number : 76 Question Id : 68634044125 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A-ILB-ILC-L.D-1IV
JA-TII.LB-IV.C-1.D-1I
4 A-IVB-IL.C-III.D-I

Options :

686340174301. 1
686340174302. 2
686340174303. 3
686340174304. 4

Question Number : 77 Question Id : 68634044126 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174305. 1
686340174306. 2
686340174307. 3
686340174308. 4

Question Number : 77 Question Id : 68634044126 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174305. 1
686340174306. 2
686340174307. 3
686340174308. 4

Question Number : 77 Question Id : 68634044126 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174305. 1
686340174306. 2
686340174307. 3
686340174308. 4

Question Number : 78 Question Id : 68634044127 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340174309. 1
686340174310. 2



686340174311. 3
686340174312. 4

Question Number : 78 Question Id : 68634044127 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

6863401743009. 1
686340174310. 2
686340174311. 3
686340174312. 4

Question Number : 78 Question Id : 68634044127 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174309. 1
686340174310. 2
686340174311. 3
686340174312. 4

Question Number : 79 Question Id : 68634044128 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174313. 1
686340174314. 2
686340174315. 3
686340174316. 4

Question Number : 79 Question Id : 68634044128 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174313. 1
686340174314. 2
686340174315. 3
686340174316. 4

Question Number : 79 Question Id : 68634044128 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174313. 1
686340174314. 2
686340174315. 3
686340174316. 4

Question Number : 80 Question Id : 68634044129 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174317. 1
686340174318. 2
686340174319. 3
686340174320. 4

Question Number : 80 Question Id : 68634044129 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- b - b g B . 1 \ e . |
O:;Aédm]’__léh_mé:ﬁﬁ:ymlb_jf__ﬁ—lh Jj'u_sm.;uca_;a.'._l'u

Options :

686340174317. 1
686340174318. 2
686340174319. 3
686340174320. 4

Question Number : 80 Question Id : 68634044129 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Options :

686340174317. 1
686340174318. 2
686340174319. 3
686340174320. 4

Question Number : 81 Question Id : 68634044130 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.A.C.B.E.D
2I0B. EAC
3.CIA BB
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Options :

686340174321. 1
686340174322. 2
686340174323. 3
686340174324. 4

Question Number : 81 Question Id : 68634044130 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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e rhea s = 2 2D

A S S g oS el B

S Sl oo £ s 8 0
1.ACBED
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Options :

686340174321. 1
686340174322. 2
686340174323. 3



686340174324. 4

Question Number : 81 Question Id : 68634044130 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SpaiSay = S A
= Bl b (S5 s < B
Sy pin & _SASYC
o gyiarea ot ot s 9 (-1
S S S R E
S S alea € o 3 fun ) € g 8
1.LAC,B.E.D
2I0B. EAC
JJC,DAEB
4. E.C.A DB
Options :
686340174321. 1
686340174322. 2

686340174323. 3
686340174324. 4

Question Number : 82 Question Id : 68634044131 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
NS iU S AL SO B ZilaR Jo' Sl e
1. 1866
2. 1870
3. 1867
4. 1865
Options :
686340174325. 1
686340174326. 2

686340174327. 3
686340174328. 4

Question Number : 82 Question Id : 68634044131 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
NEp s iU S AL SIS E Sl ZlaE b Saw g
1. 18606
2. 1870
3. 1867
4. 1865
Options :
686340174325. 1
686340174326. 2

686340174327. 3
686340174328. 4

Question Number : 82 Question Id : 68634044131 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1. 1866

2. 1870

3. 1867

4, 1865
Options :
686340174325. 1
686340174326. 2

686340174327. 3
686340174328. 4

Question Number : 83 Question Id : 68634044132 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340174329. 1



686340174330. 2
686340174331. 3
686340174332. 4

Question Number : 83 Question Id : 68634044132 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 23 )al I ogdal =als &
e Sl = —— = — s Tl g
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Options :

686340174329. 1
686340174330. 2
686340174331. 3
686340174332. 4

Question Number : 83 Question Id : 68634044132 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 23 )al I ogdal =als &
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Options :

686340174329. 1
686340174330. 2
686340174331. 3
686340174332. 4

Question Number : 84 Question Id : 68634044133 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174333. 1

686340174334. 2

686340174335. 3
686340174336. 4

Question Number : 84 Question Id : 68634044133 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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el 8 Sy Sdpal St et lage 2y S 0 A B
o s el ey s ) s Sl A S A
S o Tuel SR eal il e Al D
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Options :

686340174333. 1
686340174334. 2
686340174335. 3
686340174336. 4

Question Number : 84 Question Id : 68634044133 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
g Dol S pd G pa e L) A
=AY S Sy y S pal S St Lage 2dy 5 S U5 4B
o 5 B s el i i gl g SR el ) A S JalC
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Options :

686340174333. 1
686340174334. 2
686340174335. 3
686340174336. 4

Question Number : 85 Question Id : 68634044134 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ol € NS85y AT 3 b € ad e gl w el _STUNESCO

1. 1959 peu 15

| B}

1959 2u 28
3. 1960 e 18
4. 1958 a1l

Options :

686340174337. 1
686340174338. 2
686340174339. 3
686340174340. 4

Question Number : 85 Question Id : 68634044134 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g€ Nl Oy AT 3 jsh S - ad e (st gad S TUNESCO
1. 1959 pwin 15
2.1959 w2u28
3. 1960 meiv 18
4, 1958 mall
Options :
686340174337. 1
686340174338. 2

686340174339. 3
686340174340. 4

Question Number : 85 Question Id : 68634044134 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

3t S JBTIS O3y L g s S a0 e e gty s (a3 S TUNESCO
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| B}
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3.1960 i 18
4. 1958 vl
Options :
686340174337. 1
686340174338. 2

686340174339. 3
686340174340. 4

Question Number : 86 Question Id : 68634044135 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

g S TS Oy My sl S 0 e Ol st i (i S UNESCO

1. 1959 peiv 15

)
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Options :

686340174341. 1
686340174342. 2



686340174343. 3
686340174344. 4

Question Number : 86 Question Id : 68634044135 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Clp S SIS O%p S w sl S el e Sl gt gl S TUNESCO
1. 1959 pwin 15
2. 1959 2w 28
3. 1960 meiv 18
4. 1958 el
Options :
686340174341. 1
686340174342. 2

686340174343. 3
686340174344. 4

Question Number : 86 Question Id : 68634044135 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Og S G185y L psh S o pal e Ju gt u gglal _STUNESCO

1. 1959 peiv 15
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Options :

686340174341. 1
686340174342. 2
686340174343. 3
686340174344. 4

Question Number : 87 Question Id : 68634044136 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



DVD -A
Pen Drive -B
Follopy Disk Drive -C

CD-D

1.ADCB
206 DAB
3.B,A; D, C
4.D.C.B.A

Options :

686340174345. 1
686340174346. 2
686340174347. 3
686340174348. 4

Question Number : 87 Question Id : 68634044136 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
DVD -A
Pen Drive -B
Follopy Disk Drive -C

CD-D

1LAE CUR
228 D.AB
3B A DG
4.D.C.B.A
Options :
686340174345. 1
686340174346. 2

686340174347. 3
686340174348. 4

Question Number : 87 Question Id : 68634044136 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
DVD-A
Pen Drive -B
Follopy Disk Drive -C

CD-D

1L.ADCBE
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3:BA; D, E
4.D.C.B.A

Options :

686340174345. 1
686340174346. 2
686340174347. 3
686340174348. 4

Question Number : 88 Question Id : 68634044137 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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gt eyt S e (e gl 1 Sy 023 ) g (S
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4,

Options :

686340174349. 1
686340174350. 2
686340174351. 3
686340174352. 4

Question Number : 88 Question Id : 68634044137 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



7. ASE

Options :

686340174349. 1
686340174350. 2
686340174351. 3
686340174352. 4

Question Number : 88 Question Id : 68634044137 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2. SIS

Options :

686340174349. 1
686340174350. 2
686340174351. 3
686340174352. 4

Question Number : 89 Question Id : 68634044138 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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JA-TVB-II.C-1.D-1II
4A-LB-NILC-II.D-1IV

Options :

686340174353. 1
686340174354. 2
686340174355. 3
686340174356. 4

Question Number : 89 Question Id : 68634044138 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174353. 1
686340174354. 2
686340174355. 3
686340174356. 4

Question Number : 89 Question Id : 68634044138 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174353. 1
686340174354. 2
686340174355. 3
686340174356. 4

Question Number : 90 Question Id : 68634044139 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174357. 1
686340174358. 2
686340174359. 3
686340174360. 4

Question Number : 90 Question Id : 68634044139 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174357. 1
686340174358. 2
686340174359. 3
686340174360. 4

Question Number : 90 Question Id : 68634044139 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174357. 1
686340174358. 2
686340174359. 3
686340174360. 4

Question Number : 91 Question Id : 68634044140 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174361. 1
686340174362. 2
686340174363. 3
686340174364. 4

Question Number : 91 Question Id : 68634044140 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174361. 1
686340174362. 2
686340174363. 3
686340174364. 4

Question Number : 91 Question Id : 68634044140 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340174361. 1
686340174362. 2
686340174363. 3
686340174364. 4



Question Number : 92 Question Id : 68634044141 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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